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QUESTION 1

Which three conditions would prevent a normal giveback operation? (Choose three.) 

A. presence of failed disks 

B. ongoing SnapMirror updates 

C. established NFSv3 sessions 

D. LUNs mapped with ALUA enabled 

E. established CIFS sessions 

Correct Answer: ABE 

 

 

QUESTION 2

Click the Exhibit tab. 

The customer configured an SVM called "NewSVM" for NFS, configured the volume, "vol_nfs", mounted at "/vol_nfs",
and set up NFSv3 as shown in the exhibit. However, if they try to mount from the client with IP address 192.168.10.10,
they receive a "permission denied" error. 

In this scenario, which action will solve the error condition? 

A. Add a rule to the defaultexport policy to include the-clientmatch 192.168.10.0/24parameter. 

B. Stop and start NewSVM. 

C. Associate a correct export policy to the root volume (/) of NewSVM. 

D. Configure the default route for NewSVM correctly. 

Correct Answer: B 
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QUESTION 3

Click the Exhibit tab. 
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A customer receives the AutoSupport messages shown below. "[?] Sat Aug 23 13:00:27 PDT [hostname: env_mgr:
callhome.c.fan.fru.fault:error]: Call home for CHASSIS FAN FRU FAILED: SysFan3 F2 

... 

[?] Sat Aug 23 13:00:32 PDT [hostname: env_mgr: monitor.chassisFan.ok:notice]: Chassis fan Sysfan3 F2 is ok" 

The output of the sysconfig -a command is shown in the exhibit. In this scenario, what would you do to solve this
problem? 

A. Update Data ONTAP to 8.1.4 at the latest patch level. 

B. Update the Service Processor firmware. 

C. Replace the fan. 

D. Disconnect the controller from the mains, wait two minutes, and re-connect it in the next maintenance window. 

Correct Answer: B 

 

QUESTION 4

A customer cannot create a new volume from OnCommand System Manager. 

Which two clustered Data ONTAP daemons would be at fault in this scenario? (Choose two.) 

A. secd 

B. bcomd 

C. mgwd 

D. v1db 

Correct Answer: AB 

 

QUESTION 5

For the cluster network of a two-node cluster running Data ONTAP 8.3.1, which statement is true? 

A. Client traffic will never be sent across the cluster network, since ALUA automatically chooses the best path. 

B. Only the traffic that is required for a volume move operation is sent across the cluster network. 

C. Only configuration data is sent across the cluster network. 

D. Client traffic will be sent across the cluster network, if the LIF and the volume are not on the same node. 

Correct Answer: C 

NS0-191 PDF Dumps NS0-191 Practice Test NS0-191 Exam Questions

NS0-191 PDF Dumps | NS0-191 Practice Test | NS0-191 Exam Questions                                5 / 6

https://www.passapply.com/ns0-191.html
https://www.passapply.com/ns0-191.html
https://www.passapply.com/ns0-191.html
https://www.passapply.com/ns0-191.html
https://www.passapply.com/ns0-191.html
https://www.passapply.com/ns0-191.html


https://www.passapply.com/ns0-191.html
2021 Latest passapply NS0-191 PDF and VCE dumps Download

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success
100% Money Back Guarantee
365 Days Free Update
Instant Download After Purchase
24x7 Customer Support
Average 99.9% Success Rate
More than 800,000 Satisfied Customers Worldwide
Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.passapply.com/allproducts

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © passapply, All Rights Reserved.

Powered by TCPDF (www.tcpdf.org)

NS0-191 PDF Dumps | NS0-191 Practice Test | NS0-191 Exam Questions                                6 / 6

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.passapply.com/ns0-191.html
https://www.passapply.com/ns0-191.html
https://www.passapply.com/ns0-191.html

